[ Efficiency vs vertpos |

~ 0.2p -

2018 R SRRLRRILES

: |

>\0.16_— """"""""""" e

[8) = :

{0 NI I FERP ELRRIIES LA SRt

oS E :

50.12:— ----------------- -------------------------
0.0 ML Fiq Frerreeend

0.08F{+-{Fr-i-dd-- E RCLR SRERLTIRS
. :

0.06f]4- ki e ofeeneoe SRITE SERIRERS

0.04F L 14y R STITRT

0.02F ++fj ------- R

o 9 B

T r :‘ %

o 1 el e
' ] —
1072 1 10 0?

TP vertr (cr%)
—=— DQM_mKFIt_T1original
o] e DOM MKE T 2anUpdate-siatirr
@ —— DOM_mKFit_TT JanUSdate-systErr

N
—
o
()
[
>
o
e

=
[}

Ratio

$0.09
0.08

>

§0.07

o

= 0.06

0.1

0.05]
0.04
0.03
0.02
0.0

Vel

[y

o
|
o

[o%)

o

|

N

(@]

| i = —

= ¥ * -
o

=

(@]

20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N
>
o
IS
%
>

c

efticiency

Ratio

0.2

0.18f
=0.16F
0.14F
0.12f

0.1
0.08F
0.06F

Slm. PV z (cm)



	Contents
	Page 1


